Choose the colour box to complete. 
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What is 6²?
What is 4²?
What is 8²?
What is 7²?
What is 19²?
What is 14²?
Challenge
What is 2³?
What is 5³?



Jack thinks 15² is 30. Is he correct? Explain your answer. ___________________________________
__________________________________________________________________________________________


Task 2Task 1
What is 4²?
What is 7²?
What is 12²?
What is 16²?
What is 19²?
What is 23²?
What is 3³?
What is 4³?
What is 13³?
What is 20³?





Billy says that 11³ is 1331. Is she correct? Convince me!__________________________________________________________________________________________________________________________________________________________________________________
